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Jse the glossary starting on page 570 in the textbook to define and illustrate the following:

1. • The centroid of a triangle is Poj d  ^  'Hue- rkl̂ <d~Lcx.fi.s ,_______

The centroid is also known as the Ĉ pPrê  <>-F P.

1U,

Determine the centroid of the triangle with vertices P(-6,9) Q(6,l) and R(-6,-7) geometrically.
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To determine the centroid algebraically:
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2. The circumcentre of a triangle is PryT_ cjf- r / J i .. r i 'a h L .

Determine the circumcentre of the triangle with vertices D(-l,3) E(3,-l) and F(-l,-5) geometrically.
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To detemiine the-eireumcentre algebraically:
C

i V t ' b c  ""1~ & f

rPf

©

3I 1̂ ’*^— J
l"™v, o

/
f -~r

^>,1 13



3. The orthocentre of a triangle is PO 2  o  \  AVv (T \\yK>^ S .

';

Determine the orthocentre of the triangle with vertices A(-2,5), B(5,l) and C(-4, -5).
y

To determine the orthocentre algebraically: r
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For any triangle the orthocentre, circumcentre and centroid are \ \  (t\Q-cx c P  0  ^  AVtSL S-sCAwy^L
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10 Academic
Davy: Verifying the Properties of Triangles

Date:
Unit 2&3: Analytic Geometry

f*roperties o f ~f~nancies

E.x1. a) Verify tha t (V(ri-,o) is the centroid of O PQ ^triangle.

b) Verify tha t the centroid divides each median in a 2:1 ratio.

a*

F  x2. ~phe line segmentjoining the midpoints of two sides of a 

triangle is parallel to  the third side and half its jength. Verify 

algebraically this property in triangle y \ ( —10,1), R  (6,5) and 

nclude a labelled diagram as part of your solution.
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